wIpnn a7 "o 2,01 peTp L1702

— NWTIPR TN 9D 7Y WIPRT
One who betroths with Orloh, etc.; she is not betrothed

Overview

Our mwn states if one is W7pPn a woman with 7979 or 07277 °X92, etc. (various items
which are 7X172 1P0R), the woman is not nwTpn. [However if he sold these items
and was w7pn her with the money she is nwTpn.] Our MdOIN first explains why she
1s not NWTPn, and continues to explain why the 71wn omitted other X317 ™MK,

- 3NN ZNUINY 29 1wy
The explanation why she is not nwTpn is because they are N7 109N,

mMooIN asks:
= INNIN THTD RIY 13010 MINY 9Y RN NYTIPN NN INHDN 9NN ON)

And if you will say; why is she not nwpn, for it is permitted to derive benefit

from 7X17 >MO°R, provided the derived benefit is not in the usual manner
= (3,73 91 ©>no) *NYY D P99 INT

As the Xn3 states in 7o ®2 pa5?

N150IN answers:
= 5NN 7979 NIN NV NIY NIIDT 99991 NI 91210 YU

And one can say; here it is a case where it is worth a 7u9p mw, only if it is used
DRI 9972 (in a normal manner).

nooIn offers an alternate answer:

! This seems to be obvious; it is not clear what Mma0n means by (explaining it, and) inserting the term, w17°5. Perhaps
it should read *"wn w7 (or perhaps it is merely an introduction to the following question).

2 Others amend this to read, 17 17X *M0°XW 0 (instead of X7 MO°RW 0Y).

3 To be wIpn a woman with 703, one needs to give her something which is worth at least a 15, However these
items, which are X172 110X, they are worthless, since one is prohibited to derive any benefit from them.

4 The X3 there states; WX 72 "W 27 K X1 MWND INKIT 77T KOX 17999 P12 7R 7702 1N0°K 23 7300 " 0K 172K 1R
MWD RITW INA 223 DY 9p0I7 MW DWW 290 M1 aRw vwn. The example given is regarding 271 (which is normally used
for eating [if it were permitted]) of a 9p037 W (which makes it X372 710X). If one put this 2777 on a wound as a
palliative (which is not the X317 717 of 271) he is Mwd. Therefore, since the 291 has some value (even if it may be
less than the value of a 2511 which is used X377 7172), why is the woman not nwmpn? See ‘Thinking it over’.

3> The assumption is that anything is worth more if it can be used in a normal manner, as opposed if it can only be
used in an unusual manner (its value will be decreased since its usage is limited). Therefore if we assume he was
wpn her with this 7R3 MO°R, which (if it were not X172 M0KX) would be worth a 7179 (or slightly more than a
7uIID), so its value WK1 7172 ROW would be less than a w119, therefore she is not nwTPn. According to this answer
if the X177 MO°K was substantial enough that it is worth a V199 MW even MR T2 ROW, she would be nwTpn!
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= INNIN THT NIV GX NIV NIY NIINT 99V 2999197 991D W)Y ") ON
Or one may also say; that indeed it is a case where it is worth a 77 mw,

even when it is used NRAT 772 NOW -
- NPT NOND NY 42 1R 1NN TIT HNDOY 1Y YIY 1NAD DURNY P DIPN Y9n

Nevertheless (she is not nwTpn), for since the woman assumes that she should
have the right to benefit from this item 3nR27 9972, but factually it is not so (it is
TRIT2 MOR, so she can only have 7772 X5W 1R37, not as she assumes), therefore her

mind is not secure to depend on this type of U TP -
- MYV NP MM
And it is considered a mistaken (sale) [1w175p].

mooin asks:
= 10811V 795,939 ED1299 1PN2NN TN 3PYN XY INNPNI 9NN ON)

And if you will say; but why did not this 732 mention X1 9011 1395, among the
TR17 *MO°R, with which one cannot be w7p» a woman?

N1v0IN answers:
- 399 N7 NY ©IWTPAT 9199 U

And one can say; that this 71wn is not discussing 2°w7P (meaning Mi27p).

mooIn anticipates a difficulty:
- HDOA NN YN NI XM

And the reason the 71wn did not mention that if one 1s w7pn with Y1 on 1eD that
she is not nwWTIPH —

mooIn replies:
= (8, 970v) DYY T3 P92 NNINA YIWT D0)N YD 2295 9307 DIVN

Because the Xin of this miwn agrees with 3199 who states in 7w %2 P95 that yom

® Were we to understand the 73wn is (only) in a case where the woman was not aware that he is giving her something
which is 7X172 MOR, so MdoIN answer is readily understood; she assumed to be receiving something of a greater
value, while in fact she is receiving something of a lesser value; this is indeed myv *w17p. However it would seem
that the m1wn is discussing all cases even when she was aware that it was 717 *10°R and nevertheless she is not
nwnpn. See ‘Appendix’.

7 This is amended to read, Myv *W17°p "M (instead of MWL npn "M).

8 w5 (meaning despicable) is when the 175 thinks during the 1277 process (the mwnw, etc.) that he intends to
(sprinkle the blood, or) eat the 127, either not in its proper place (outside 2°2w17°), or not in its proper time (after two
days). In either case the 127 becomes 730 immediately and it is X372 MoK (it needs to be burnt).

% 9ma (left over) is when the meat of the 127p remained after its expired time (for 121 awx) nxvn a day and a night),
for 121 27w two days and a night). The 7011 meat must be burnt and it is 7R372 OK.

101397 meat which came in contact with a Xm0 927 (even a IRMY? W) becomes Xu and must be burnt and is X372 MOR
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Moo is JINIT2 N —

mooIn anticipates an additional difficulty:
= ©22210 NNIAY YN NIT N

And the reason the 71wn does not mention idols which are X372 70K —

mooIn replies:
= YUNHPN 1972 VTP 1991 122 2519 7Y NYT 0N

Because the X9°0 of the mwmn, which states; ‘if he sold the 7R17 >10°R and was

wpn her with that money she is nwTp®’, is not applicable to v -
$999221 290N NYYraY) LT NUN 022915 NTAY MINY

For 1"y ‘grasps’ its money, as it is also regarding nsy>aw after the time of =wa.

Summary
PWITR with 1837 0K are invalid either where the 7775 XPw X377 is less than a

7v179, or even in all cases since the woman is not 7ny7 71010, Other 7RI NMO°X are
not included for various reasons.

Thinking it over

Moo writes that it is permitted to derive benefit from 7817 *No°R if it is 7770 ROW
X317, and cites the X3 in 2’noo.!* However, the X713 there (merely) states that he
is Mo (from a 127p), but not that it is permitted!'*

Appendix*
See the w"w1 who writes (on what mo0In states that 7ny7 7510 X7 1271 720 X°)

that 79710 X7 X277 ,2°°W" DWTPN 17 1T 79 1031 7302 09 wIPNa KM w'n nT XY
nny7. From his question and answer it appears that just like by 021 7312 °% *w7pni
UM NwTIPK 1 7107 179, where the woman is nwTp» since she assumes that he will
be giving her a 7, even though presently he only gave her a 71>7, similarly here
too when he told her *% *w7pni with this apple of 797y, she assumed that he will be

" If one sells the 1"y, the money is also AR372 MOX. The X317 NOX of the 1"y grasps (it extends to) the money, as
opposed to the other 7R3 *MOX in our 73wn where the money acquired by selling the 7R17 *10K is X172 NN,

12 The same rule of 717 091N applies to the n*y>aw Mok as well. It is not clear whether MadIn maintains that N°w>aw
Y727 MK is an 837 MO and this is an explanation why it is not mentioned (since it is »7 ©91n), or MdOIN merely
mentions it as a corollary to 1"y (they are both ¥»7 09I1n). See TIM7N7 *WDn W # 88-9. See w1 a"7 &,m1 'on [TIE
“Thinking it over’].

13 See footnote # 4.

14 See 2,75 0'nod regarding X1°27. See T2 *WIDN XK # 45 onwards.

15 See footnote # 6.
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giving her the full value of an apple (let us say a 71°7), even though the actual value
of this 1%7v apple is merely a 7119 (or somewhat more). And therefore there is
reason to argue that she should be nw7pn (with this apple of 777v) and 2°%w», he
should pay her the full value of a regular apple. Therefore n1o01n answers that by
207 79 30N 712 0% wIpna, the woman is ny7 710 that the 1107 is the beginning of
the payment for the 71n,'® however here she is not 7ny7 7010 that he will give her
anything more!’ than this apple of 797v and therefore she is not nwmpn. '8

161t is ‘normal’ that when one promises a (large) sum that he pays it in installments.

17 His intention may have been that she should be nwpn with the X317 of 13775 X7w, which is merely worth a 701D
(or so), however she is assuming that she is to receive the full value of an ordinary apple, but he may not realize it,
therefore she is YT 7910 K.

18 For other possible explanations see T2 *w19n IR # 62-3.
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